X711 7"7 '01N X,1% M2 702

One is for lashes and money - 7R NpPhna N7

Overview

Our mwn stated! that we derive the ruling of 7% 72772 7°% 0°p from the 7100 of?
WIY WY POXR 7770 XY OXY, indicating that if there is an 10X, there is no wiy> wuy.
Our X773 asks that we derive (2"2%p) from the 109 of® 1nywA >75? The X3 answers
one o9 is for 11m1 1n°» and the other is for Mphn and Nan.

- SYY YU 999 XY Y HDRYS Hryb
I have explained previously why the X713 does not utilize the Mw 77713 of PwS
v to derive nnon v2°°1 and nvphn 22 from each other that in both cases we say n"2%p —

n1voIN asks:
= 69915 INPN NYT NP N 9929 RN 7299 (3,3 97 xnp x33) JAINN YT NN

It is astounding! For in the beginning of ®21177 5, the X773 asks, ‘but we need

this P1op of, ‘do not take Kofer’, to teach us another ruling -
= NP9 YW »7219 NYDN 2V ﬂ’b\??ﬂ? NN NN 5117“’5'\ NY9

That you should not take money from him and also Kill him (the rule of »"2%p);
and the X answered; that rule of n"2%p by 1m anon, is derived it from 97>

YR and not from 1910 wpn X9, This concludes the citation from the X773 there. Moo asks -
= 19195) MPYIY RN INYYH 2757 XPOI PWOX NP1 XN NINN 919910 1D M

The X123 there should have answered that »"2%7 of 1m0 (which the Xna is
discussing there), is derived from oK 797 X9, for Inyw= 72 (which the X7
there cites) is used for 7321 NP9 as the X3 explains here!

MB0IN answers:

Lo,
2 725,83 (owown) nmw. The oo there states if people were fighting and they pushed a pregnant woman and caused
her to miscarry, if there was no 7oK (the woman did not die) the person responsible for the miscarriage is required to
pay (w1 wuy) for the monetary damages to the fetus caused by the miscarriage. However (the inference is), if the
woman died, he does not have to pay, on account of n"27p.
3 In 2,72 (XxN) 027 the 770 writes (regarding MpPHn) INYWA 775 17197 179M VW 1270, we are P11 from the singular
expression 1YW that he is liable for one AvywA but not for two NPyw (i.e. Mpo»n and 1 as the X3 concludes).
4R A" R,
5> The word ywA is found both by 0 271 (in ®2,77 [Yon] 727232 it says Mn? ¥w1 X1 WwR) and by mphn »20 (in
2,72 [X¥N] 0°127 it says YwIT M3 12 oX 7M); we utilize this w"m elsewhere. Noo1n there explains why we do not
utilize it here and we require two 0109, for 13m0 and M@ NPYH; one 709 should have been sufficient. w"»y.
6 9915 means redemption money, to pay money instead of being killed. The X3 there is asking we cannot use it for
the Xw17 which the X723 there wanted to use it, for we need it to teach us the rule of n"2%p.

1

TosfosInEnglish.com



X711 7"7 '01N X,1% M2 702

= 199199 NN RPAI INYYWI 2719107 91990 RIPOYN NN YV 9957 93 ¥V ONNYT 990 VU
And one can say that the X713 there erred just like the X722 here erred initially
when it assumed that we derive from 1nyw= 97> the rule of »"2%p by J17amI 7N —

Moo responds to an anticipated difficulty:

- 72559 11913) MPYRA NN TPI9 YT NY)
[And the reason the X7n) there does not ask on that answer of YWY 7o R0
X931, ‘but that 7105 was written for 3171 n¥®p»’, but not for 1vm an —

MooIN responds:
= [NP93 PON 1915 NIN NIYY 281 MNT DIVN MYPNY YN XD

The X773 was not concerned to ask this question because the X713 knew that we
could answer that we derive »"25%p by 111 o from IOR 71575 RY] —

mooIn offers an alternate response to the original question:®
: 0NN NYVPI NNPHYA NINDIOY 193 N

Or you may also say, that he mentioned there nyw7 °70 as a mere
representation of n"2%p, but not the exact wA7.

Summary
The X773 may not always cite the correct 7217, as long as the intent is correct.

Thinking it over

1. How can we explain the difference between the answer of the "»1 °X (that it is
Xnhya R®12°07) and the answer in the brackets (121 1w *¥n M7 2wn)? Or is there
no difference?

2. Is the w7 of n"2%p more explicit in MNYW" >72, or in NOR 777> R9?

7 Why did not the X3 clarify this error, as the X2 clarified it here.
8 Why did the X7n3 there cite the 109 of 1ywn 7> instead of citing the 7105 of TOX 777 X5,
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